Anx B - Work Completion Report

Company	M C Modi Educational Trust		Name of contractor	Nani babu		Sl. No. site bills reg.		483	
Project/site	MCMET		Nature of work	Electrical		Dt. site bills	s reg.	22-09-2025	
Block no.	MCMET		Work done from date	10-09-2025					
WO no.			Work done to date	18-09-2025					
WO date			Contractor bill no.			GST bill required?			
Sl. No.	Unit/floor no D		Details of work		Qty	Units	nits Rate ID	Rate	Amount
	MCMET								
	Ground floor-Earthing work	50mm x6mm gi strip layir	ng		232.00	kg's	EL177	22.35	5,185
		25mmx6mm gi strip layin	g	-	111.00	kg's	EL177	26.25	2,914
		GI strp shape making	4		11.00	no's	EL180	200	2,200
			7.4	1 2					
				5					
				3					
			-						
					1.3	Total amou	nt including taxes	s for work done	10,299
Remarks:	BY								
Approved by	Remarks: Approved by project managed. Sign:			by QS team Approved by Director/E&D team					
Sign:	VABRO I		Sign:	Sign:				1.00	
Date.	1.05.14.14.2		Date:						12
Notes: 1. This so	eet replace installation report and advice for cr	redit to contractors. 2. This word form mu	st be typed. 3. Use this form even if	work order is not issu	ied. 4. Attach mei	asurement and est	timate sheets only if requ	tired i.e., details cannot	be entered above.

Notes: 1. This spect replaced in stallation report and agricle for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k.0.0 standard bild directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + GMR), Sachun (for Vive 100). It is than 10k may (or NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must be sent by courier).

with OKEN SCORE

Project:		Manilal Modi Memorial		Approve	a by:	Sai kumar Reddy			No. The Control of th
		MCMET	Sign:						
Work Description :		Electrical	Work start date:		10-09-2025				
Contractor:		Nani babu		Work end date: 18-09-2025					
Prepared By:		K.Praveen	A Section 1	Date:		22-09-2025			
			A	В	C	D	E=AxBxCxD	F	G= Sum of F
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	units	Item Head Total
MO	CMET								- 92
1 Gro	round floor-Earthing work	50mm x6mm gi strip laying	232.00	1.00	1.00	1.00	232.00	kg's	
		25mmx6mm gi strip laying	111.00	1.00	1.00	1.00	111.00	kg's	
		GI strp shape making	1.00	1.00	1.00	11.00	11.00	no's	

ed with OKE

ESTIMATE SHEET						Approved	By	
Company Name:	Manilal Modi Memorial					Sai kumar		
Project:	MCMET							
Work Description:	Electrical							
Prepared By	Praveen.K							
Bill Date:	22-09-2025							
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
	MCMET							
	1 Ground floor-Earthing work	50mm x6mm gi strip laying	232.00	kg's	22.35	5,185.20		po no's-20250423012
		25mmx6mm gi strip laying	111.00	kg's	26.25	2,913.75		2025091603
		GI strp shape making	11.00	no's	200	2,200.00		2025042300
							10,298.95	
-	-			2.				

Labour Charges Nani babu MUHARPALLY Hyderabad

Date: 22-09-2025

In favor of:

M C Modi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Electrical

Towards:

Labour Charges

S.No.	D	Amount	
1	Breif discription of work:	Towards earth pits gi strip fixing	
	work		4,119.60
	Total amount:	10,299.00	

Amount in words: Four thousand one hundred nineteen rupees only/-

Sign:	

Allowance For Consumables Nani babu MUHARPALLY Hyderabad

Date: 22-09-2025

In favor of:

M C Modi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Electrical

Towards

Allowance For Consumables

S.No.	Di	Amount	
1	Breif discription of work:	Towards earth pits gi strip fixing	1
	work		2,059.80
	Total amount:	10,299.00	

Amount in Word: Two thousand fifty nine rupees only /-

Allowance For Equipment Nani babu MUHARPALLY Hyderabad

Date: 22-09-2025

In favor of:

M C Modi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Electrical

Towards:

Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work	Towards earth pits gi strip fixing work	4,119.60
	Total amount:	10,299.00	4,117.00

Amount in Word: Four thousand one hundred nineteen rupees only/-

Sign:			